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Part 1. Biographical Narrative [2122] YLCH7I]

Part 2. Magazine, Newspaper or Web article [, 7I1'd 2 M2 L)
Part 3. Encyclopedia Article [H§FAFHZE X|Al]

Part 4. Business or Formal Letter [OtAIO[L} ARAXIQt S2| A Al/E-mail]
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Arabia (OF2HH|Oh-> the Moslem nations(0| &£ & Z7}E)

Antarctica (2=)-> this fragile and important part of the planet(X|7#2| O] A4St Q2
ot 28)

each term(0ff &t7[) -> per semester(Off t7])



trade-off (SHHFE) -> exchange(il2h

inscribed on papyrus (ZHI|FA0| AjAZ)-> written on papyrus (ZHIF A0 A0 Z)
if caught (B&3ICHH)-> when exposed(X gt &l CHH)

seek (FTSICH— is after

the North ([&8t72|] MZI=)—the industrialized countries — rich countries

the South ([EE72] &M E&=)— in the other half of the world — poor countries

Aol ket Practice

Coffee was introduced much later to countries beyond Arabia whose inhabitants
believed it to be a delicacy and guarded its secret as if they were top secret military
plans. Transportation of the plant out of the Moslem nations was forbidden by the
government. The actual spread of coffee was started illegally. One Arab named Baba
Budan smuggled beans to some mountains near Mysore, India and started a farm there.
Early in this century the descendants of those original plants were found still growing
fruitfully in the region.
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[ZOIFH FE88 THIHR G-telp Sl 7IH]

1) 2% Midoz Diet, oM F2 =XEo = M of LiZiCh (XI5 Zl6f)
2) G-telp Sl X =Mti2 X|22| W&0| "*7H5“1f
P 2HE B SHefh = MEXEIHE Her = X2 HOF =t

3) Part 1, Part 4= Paraphrasing®ll £3| Qo|$tct,

4) Part 2, Part 3= Main IdeaS E8dllA S2Fstict.
- Main Idea 3= 83
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consequence, Consequently
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